1. Make sketches for the graphs of the functions listed in #3. 4. and 5 in this activity. These functions are

written in the form y = a + bcos x. State the range of each function below each graph. Then, answer

the following question.

How do the values of ‘2’ and ‘b’ in y = a + bcos x affect the graph of a trig function?
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Part1: | igating the caseof a=b

2. Open the file ‘polar3’. Move to page 2.2 of the document. You will see the graphofy =3 + 3cos xon
the left pane! and a polar grid on the right panel.

You will be observing the polar graph formed by tracing the graph of the function y = 3 + 3cosX. As
the graph is traced for ‘x’ values from [0, 360°], corresponding points in terms of '’ and ‘0’ for the

graph of the polar equation r = 3 + 3cos 8 will be plotted on the polar grid.

questions that follow.

Function: y=34 3cosx

Polar Equation:

Q° lSO‘t 270°

Range: Lo, "]

3. Press play and observe the polar graph formed. Make a sketch of the polar graph and answer the

r=3+3cos0

Look at the range listed for the trig function above. Explain connections between the range of the trig
function and the span of 'r’ values shown in the polar graph that support its shape.

[] = Y =
'r Cirqec Fm- bi‘dfhﬂll" (A'bB:C)') Gad  slmly decrerss unbl 0 (at&=|ﬂ°°)

Canting & heark-like chope wilh a Cusp 5 faem, alle 8=100° ¢ dwmly

o 'Fofmiu) the ofhee Gide of The kcu’c-shtpe.



! igatin, caseof a>h

4. Move to page 3.2 of the document. Press play and observe the polar graph formed by tracing the
functiony = 4 + 2cos x. Make a sketch of the polar graph and answer the questions that follow.

Function: y=4+ 2cos X Polar Equation: r=4+ 2cos @
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Range: EZ’ ‘]

How is this polar graph different than when r = 3 + 3cos 87 Explain connections between the range
of the trig function and the span of '’ values shown in the polar graph that support its shape.
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5. Move to page 4.2 of the document. Press play and observe the polar graph formed by tracing the
function y = 2 + 4cos x. Make a sketch of the polar graph and answer the questions that follow.

Function: y=2+4cosx Polar Equation: r=2+ 4cos 0
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How is this polar graph different than when r = 3 + 3cos 87 Explain connections between the range
of the trig fiunction and the span of T’ values shown in the polar graph that support its shape.

'r' ranvges Fow binihall\, (t-{ 820°) and Aeoreans unh'l =0 (ab g= ")

hee fhe gopn froms g Cuipy Phem ' 20 gad bn intec g fivms o
the qaph while <] able 8= 240° ‘¢' inccerrs Ond fres D cerh gf e Shepe.




